# Journal of the Nigerian Association of Mathematical Physics, Volume 9 (November 2005) 

Coefficient inequalities and some convolution properties of a subclass of analytic functions

Abiodun Tinuoye Oladipo<br>Department of Pure and Applied Mathematics,<br>Ladoke Akintola University of Technology,<br>Ogbomoso, Nigeria.<br>e-mail:atiab_3@yahoo.com

Abstract
In this work the author introduced a subclass $T_{n}^{\alpha}(p, \beta)$, a subset of class $T_{n}^{\alpha}(\beta)$ introduced and investigated by Opoola [1]. The author derives some coefficient inequalities and convolution properties for the class. $T_{n}^{\alpha}(p, \beta)$ using Salagean differential operator.
pp 49-56

### 1.0 Introduction

Let $A$ be the class of functions regular in the unit disk $E=\{z:|z|<1\}$ and of the form

$$
\begin{equation*}
f(z)=z+\sum_{k=2}^{\infty} a_{k} z^{k} \tag{1.1}
\end{equation*}
$$

Furthermore, Opoola [1] denote by $T_{n}^{\alpha}(\beta)$ a subclass of A consisting of functions satisfying the following conditions.

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{D^{n} f(z)^{\alpha}}{z^{\alpha}}\right\}>\beta, \quad z \in E, \quad n=0,1,2 \ldots \tag{1.2}
\end{equation*}
$$

$\alpha>0,0 \leq \beta<1$ and the operator $D$ is the same as in $B_{n}(\alpha)$ namely the Salagean differential operator defined as

$$
\begin{equation*}
D^{0} f(z)=f(z), D^{1} f(z)=z f^{\prime}(z), D^{n} f(z)=z\left(D^{n-1} f(z)\right){ }^{\prime} \tag{1.3}
\end{equation*}
$$

Opoola in his remarks gave some other existing subclasses such as $\mathrm{S}_{\mathrm{o}}, B(\beta), \delta(\beta)$, and $B_{n}(\alpha)$, by varying the parameters $\alpha, \beta$, and $n$ in (1.2) see [1] for details. Also in [1] Opoola proved the following results.
Theorem 1.1
$T_{n}^{\alpha}(\beta) C S$ for $n \geq 1$ where $S$ is the subclass of $D$ consisting of univalent functions in $E$.
Theorem 1.2

$$
T_{n+1}^{\alpha}(\beta) \subset T_{n}^{\alpha}(\beta) \text { for } n \geq 1
$$

Theorem 1.3

$$
f \in T_{n}^{\alpha}(\beta) \text {, then } \operatorname{Re}\left\{\frac{f(z)^{\alpha}}{z^{\alpha}}\right\}>\beta, \quad z \in E, \quad 0 \leq \beta<1, \alpha>0 \ldots
$$

Let $A(p)$ be the class of functions of the form

$$
\begin{equation*}
f(z)=z^{p}+\sum_{k=p+i}^{\infty} a_{k} z^{k} \tag{1.4}
\end{equation*}
$$

$$
\left(a_{k} \geq 0, \quad p, i \in N=\{1,2, . . \quad\}\right)
$$

which are analytic in the unit disk $E=\{z:|z|<1\}$ Motivated by the earlier works of Opoola [1], Owa [2], Ahuja [3], Owa and srivastava [4] the author introduced a subclass $T_{n}^{\alpha}(p, \beta) \subset T_{n}^{\alpha}(\beta)$ whose functions are of the form (1.4) and satisfy the same condition (1.2).

The following results are true for the Functions in the class $T_{n}^{\alpha}(p, \beta)$

## Theorem A

$T_{n}^{\alpha}(p, \beta) \subset S_{p}, n \geq 1$ where $S_{p}$ is the subclass of $A(p)$ consisting of univalent functions in $E$.

## Theorem B

$T_{n+1}^{\alpha}(p, \beta) \subset T_{n}^{\alpha}(p, \beta)$ for $n \geq 1, p \in N$.
In this work the author derives the coefficient inequalities and convolution properties for the subclass $T_{n}^{\alpha}(p, \beta)$ using Salagean differential Operator defined by (1.3) and the method of mathematical induction.

### 2.0 Coefficient Inequalities

## Theorem 2.1

If $f(z) \in T_{n}^{\alpha}(p, \beta)$ and $p$-valently starlike of order $\beta$ then.

$$
\begin{equation*}
\sum_{k=p+i}^{\infty}(\beta-k) a_{k} \leq p-\beta, \quad\left(a_{k} \geq 0,0 \leq \beta<1, p, i \in N=\{1,2,3, \ldots . .\}\right) \tag{2.1}
\end{equation*}
$$

Proof
By definition (1.3) it is sufficient to show that

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{D^{1} f(z)}{D^{0} f(z)}\right\}>\beta, \quad 0 \leq \beta<1, \quad z \in E \tag{2.2}
\end{equation*}
$$

holds true.
From (1.4) and (2.2) we have that

$$
\begin{equation*}
\frac{D^{1} f(z)}{D^{0} f(z)}=\frac{p+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}{1+\sum_{k=p+i}^{\infty} a_{k} z^{k-p}} \tag{2.3}
\end{equation*}
$$

and from (2.2) and (2.3) we have

$$
\begin{equation*}
\operatorname{Re} \frac{D^{1} f(z)}{D^{0} f(z)}=\left\{\frac{p+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}{1+\sum_{k=p+i}^{\infty} a_{k} z^{k-p}}\right\}>\beta \tag{2.4}
\end{equation*}
$$

for all $z \in E$. Choose the values of $z$ on the real line $z=r e^{i 0}(0 \leq r<1)$, then (2.4) implies

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{p+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}{1+\sum_{k=p+i}^{\infty} a_{k} z^{k-p}}\right\}=\left\{\frac{p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}}{1+\sum_{k=p+i}^{\infty} a_{k} r^{k-p}}\right\}>\beta \tag{2.5}
\end{equation*}
$$

Since $p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}>0$, we have

$$
\begin{equation*}
p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}>\beta\left(p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}\right) \tag{2.6}
\end{equation*}
$$

By letting $r \rightarrow 1$ through half line $z=r e^{i 0}(0 \leq r<1)$ in (2.6), we have

$$
\sum_{k=p+i}^{\infty} k a_{k}-\beta \sum_{k=p+i}^{\infty} a_{k} \geq \beta-p, \text { which finally yields } \sum_{k=p+i}^{\infty}(\beta-k) a_{k} \leq p-\beta \text { which concludes the }
$$

proof of Theorem 2.1
Theorem 2.2

$$
\begin{align*}
& \text { If } f(z) \in T_{n}^{\alpha}(p, \beta) \text { and } p \text {-valently convex of order } \beta \text { then } \\
& \qquad \sum_{k=p+i}^{\infty}(\beta-k) \leq p(p-\beta)  \tag{2.7}\\
& \left(a_{k} \geq 0,0 \leq \beta<1, \quad p, i \in N=\{1,2, \ldots .\}\right)
\end{align*}
$$

## Proof

$$
\begin{equation*}
\text { It is sufficient to show that } \operatorname{Re}\left\{\frac{D^{2} f(z)}{D^{1} f(z)}\right\}>\beta, \quad z \in E \quad 0 \leq \beta<1 \tag{2.8}
\end{equation*}
$$

From (1.4) and (2.7) we have

$$
\begin{equation*}
\operatorname{Re}\left(\frac{D^{2} f(z)}{D^{1 f}(z)}\right)=\operatorname{Re}\left\{\frac{p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} z^{k-p}}{1+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}\right\} \tag{2.9}
\end{equation*}
$$

By (2.8) and (2.9) we have

$$
\begin{equation*}
\operatorname{Re}\left(\frac{D^{\prime} f(z)}{D^{0} f(z)}\right)=\operatorname{Re}\left\{\frac{p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} z^{k-p}}{p+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}\right\}>\beta \tag{2.10}
\end{equation*}
$$

for $z \in E$, choose the value of $z$ on half line $z=r e^{i 0}(0 \leq r<1)$, then

$$
\begin{equation*}
\operatorname{Re}\left\{\frac{p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} z^{k-p}}{p+\sum_{k=p+i}^{\infty} k a_{k} z^{k-p}}\right\}=\frac{p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} r^{k-p}}{p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}}>\beta \tag{2.11}
\end{equation*}
$$

Since $p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} r^{k-p}>0$ we have

$$
\begin{equation*}
p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} r^{k-p}>\beta\left(p+\sum_{k=p+i}^{\infty} k a_{k} r^{k-p}\right) \tag{2.12}
\end{equation*}
$$

By letting $r \rightarrow 1$ through half line $z=r e^{i 0}(0 \leq r<1)$ in (2.12) we have

$$
p^{2}+\sum_{k=p+i}^{\infty} k^{2} a_{k} \geq p \beta+\beta \sum_{k=p+i}^{\infty} k a_{k}
$$

which finally yields

$$
\begin{gathered}
\sum_{k=p+i}^{\infty} k(\beta-k) a_{k} \leq p(p-\beta) \\
\left(a_{k} \geq 0, \quad p, i \in N=\{1,2, \ldots .\}\right), \quad 0 \leq \beta<1 \text { which concludes the proof of Theorem 2.2. }
\end{gathered}
$$

### 3.0 Convolution Properties

## Theorem 3.1

If $f_{j}(z) \in T_{n}^{\alpha}\left(p, \beta_{j}\right),(j=1, \cdots, m)$, then $\left(f_{1} * \ldots * f_{m}\right) \in T_{n}^{\alpha}\left(p, \beta_{j}\right)$. where

$$
\begin{equation*}
\rho=p+\frac{i \prod_{k=1}^{m}\left(p-\beta_{j}\right)}{\prod_{k=1}^{m}\left(p-\beta_{j}\right)+\prod_{k=1}^{m}\left(\beta_{j}-k\right)} \tag{3.1}
\end{equation*}
$$

The result is sharp for functions

$$
\begin{equation*}
f_{j}(z)=z^{p}+\left(\frac{p-\beta_{j}}{\beta_{j}-p-i}\right) z^{\rho+i} \tag{3.2}
\end{equation*}
$$

## Proof

Our method of proof shall follow the work of Owa [2], Owa and Srivastava [4], and we shall use the principle of Mathematical induction in our proof of Theorem 3.1
For $m=1$, we see that $p=\beta_{1}$. For $m=1$ Theorem 2.1 gives

$$
\begin{equation*}
\sum_{k=p+i}^{\infty} \sqrt{\frac{\beta_{j}-k}{p-\beta_{j}}} a_{k, j} \quad \leq 1 \quad(j=1,2) \tag{3.3}
\end{equation*}
$$

Thus, by applying the Cauchy-Schwarz inequality we have

$$
\begin{align*}
& \left|\sum_{k=p+i}^{m} \sqrt{\frac{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}\left(a_{k, 1}\right)\left(a_{k, 2}\right)}\right|^{2}  \tag{3.4}\\
& \leq\left(\sum_{k=p+i}^{m}\left(\frac{\beta_{1}-k}{p-\beta_{1}}\right)\left(a_{k, 1}\right)\left(\sum_{k=p+i}^{m}\left(\frac{\beta_{2}-k}{p-\beta_{2}}\right)\left(a_{k, 2}\right)\right)\right.
\end{align*}
$$

Therefore, if

$$
\sum_{k=p+i}^{\infty}\left(\frac{\delta-k}{p-\delta}\right)\left(a_{k, 1}\right)\left(a_{k, 2}\right) \leq \sum_{k=p+i}^{\infty} \sqrt{\frac{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}\left(a_{k, 1}\right)\left(a_{k, 2}\right)}
$$

That is, if

$$
\begin{equation*}
\sqrt{\left(a_{k, 1}\right)\left(a_{k, 2}\right)} \leq \frac{p-\delta}{\delta-k} \sqrt{\frac{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}} \tag{3.5}
\end{equation*}
$$

then $\quad\left(f_{1} * f_{2}\right)(z) \in T_{n}^{\alpha}(p, \delta)$. We also note that the inequality (3.3) yields

$$
\begin{equation*}
\sqrt{a_{k, j}} \leq \sqrt{\frac{p-\beta_{j}}{\beta_{j}-k}}(j=1,2, \quad k=p+i, \quad p, i \in N) \tag{3.6}
\end{equation*}
$$

Consequently, if

$$
\frac{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)} \leq \frac{p-\delta}{\delta-k} \sqrt{\frac{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}}
$$

that is, if

$$
\begin{equation*}
\frac{p-\delta}{\delta-k} \leq \frac{\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)} \tag{3.7}
\end{equation*}
$$

then we have $\left(f_{1} * f_{2}\right)(z) \in T_{n}^{\alpha}(p, \delta)$. It follows from

$$
\delta \leq p+\frac{(k-p)\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)+\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}=h(k)
$$

since $h(k)$ is increasing, for $k \geq p+i$ we have

$$
\delta \leq p+\frac{(k-p)\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)+\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}
$$

which shows that $\left(f_{1} * f_{2}\right)(z) \in T_{n}^{\alpha}(p, \delta)$ where

$$
\begin{equation*}
\delta=p+\frac{i\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)+\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)} \tag{3.8}
\end{equation*}
$$

Therefore, the result is true for $m=2$. Suppose that the result is true for any positive integer $m$. That is $\left(f_{1} * f_{2}\right)(z) \in T_{n}^{\alpha}(p, \gamma)$ where

$$
\begin{equation*}
\gamma=p+\frac{(k-p) \prod_{k=1}^{m}\left(p-\beta_{j}\right)}{\prod_{k=1}^{m}\left(p-\beta_{j}\right)+\prod_{k=1}^{m}\left(\beta_{j}-k\right)}(j=1, \ldots m) \tag{3.9}
\end{equation*}
$$

Then by means of the above technique, we can show that $\left(f_{1} * f_{2}\right)(z) \in T_{n}^{\alpha}(p, \rho)$ where

$$
\begin{equation*}
\rho=p+\frac{i \prod_{k=1}^{m+1}\left(p-\beta_{j}\right)}{\prod_{k=1}^{m+1}\left(p-\beta_{j}\right)+\prod_{k=1}^{m+1}\left(\beta_{j}-k\right)\left(\beta_{j}-p-i\right)} \tag{3.10}
\end{equation*}
$$

This shows that the result is true for $m+1$ Therefore, by mathematical induction, the result is true for any positive integer $m$.

Further, taking the functions $f_{j}(z)$ defined by (3.2) we have

$$
\begin{equation*}
\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z)=z^{p}+\left\{\underset{j=1}{m}\left(\frac{p-\beta_{j}}{B_{j}-p-i}\right)\right\} z^{p+i}=z^{p}+A_{p+i} z^{p+i} \tag{3.11}
\end{equation*}
$$

which shows that

$$
\sum_{k=p+i}^{\infty} \frac{\rho-k}{p-\rho} A_{k}=\left(\frac{\rho-p-i}{p-\rho}\right)\left\{\begin{array}{c}
m  \tag{3.12}\\
\pi \\
j=1
\end{array}\left(\frac{p-\beta_{j}}{B_{j}-p-l}\right)\right\}=1
$$

Consequently, the result is sharp for functions $f_{j}(z)$ given by (3.2)
Letting $\beta_{j}=\beta(j=1,2, \ldots, m)$ in Theorem 3.1, we have

## Corollary A

$$
\begin{align*}
& \text { If, } f_{j}(z) \in T_{n}^{\alpha}\left(p, \beta_{j}\right),(j=1, \cdots, m) \text { then }\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z) \in T_{n}^{\alpha}(p, \rho) \text {, where } \\
& \qquad \rho=p+\frac{(p-\beta)^{m}}{(p-\beta)^{m}+(\beta-p-i)^{m}} \tag{3.13}
\end{align*}
$$

The result is sharp for functions

$$
\begin{equation*}
f_{j}(z)=z^{p}+\left(\frac{(p-\beta)}{(\beta-p-i)^{m}}\right) z^{p+i} \quad(j=1,2, ., m) \tag{3.14}
\end{equation*}
$$

Setting $p=1, i=1 \cdots$, and in Theorem 3.1 we have
Corollary B

$$
\text { If } f_{j}(z) \in T_{n}^{\alpha}\left(p, \beta_{j}\right),(j=1,2, \cdots, m) \text {, then }\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z) \in T_{n}^{\alpha}(1, \rho)
$$

where

$$
\begin{equation*}
\rho=1+\frac{\prod_{j=1}^{m}\left(1-\beta_{j}\right)}{\prod_{j=1}^{m}\left(1-\beta_{j}\right)+\prod_{j=1}^{m}\left(\beta_{j}-2\right)} \tag{3.15}
\end{equation*}
$$

The result is sharp for functions

$$
\begin{equation*}
f_{j}(z)=z+\left(\frac{1-\beta_{j}}{\beta_{j}-2}\right) z^{2} \quad(j=1,2, ., m) \tag{3.16}
\end{equation*}
$$

Theorem 3.2

$$
\text { If } f_{j}(z) \in T_{n}^{\alpha}\left(p, \beta_{j}\right)(j=1,2, \ldots m) \text { then }\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z) \in T_{1}^{\alpha}(p, \rho) \text { where }
$$

$$
\rho=p+\frac{i p^{m-1} \prod_{j=1}^{m}\left(p-\beta_{j}\right)}{(p-i)^{m-1} \prod_{j=1}^{m}\left(\beta_{j}-p-i\right)+p^{m-1} \prod_{j=1}^{m}\left(p-\beta_{j}\right)}
$$

The result is sharp for functions

$$
\begin{equation*}
f_{j}(z)=z^{p}+\frac{p-\beta_{j}}{(p+i)\left(\beta_{j}-p-i\right)} z^{p+i}(j=1,2, \ldots m) \tag{3.18}
\end{equation*}
$$

Proof
It is clear that the result is true for $m=1$. For $m=2$, theorem 2.2gives

$$
\begin{equation*}
\sum_{k=p+i}^{\infty}\left\{\frac{k\left(\beta_{j}-k\right)}{p\left(p-\beta_{j}\right)}\right\} a_{k, j} \leq 1, \quad(j=1,2) \tag{3.19a}
\end{equation*}
$$

which implies

$$
\begin{equation*}
\sum_{k=p+i}^{\infty} \frac{\sqrt{k\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}}{p \sqrt{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}} \sqrt{a_{k, 1} a_{k, 2}} \leq 1 \tag{3.19b}
\end{equation*}
$$

Since we have to get the largest $\rho$ such that

$$
\begin{equation*}
\frac{\rho-k}{p-\rho} \leq \frac{k\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)}{\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)} \tag{3.20}
\end{equation*}
$$

From the above, we need to find the largest $\rho$ such that

$$
\begin{equation*}
\rho \geq p+\frac{p(k-p)\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{k\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)+p\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}(k \geq p+i) \tag{3.21}
\end{equation*}
$$

Further, noting that the function

$$
h(k)=p+\frac{p(k-p)\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{k\left(\beta_{1}-k\right)\left(\beta_{2}-k\right)+p\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}
$$

is increasing for k , we have

$$
\begin{equation*}
\rho \geq h(p+i)=p+\frac{i p\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)}{(p+i)\left(\beta_{1}-p-i\right)\left(\beta_{2}-p-i\right)+p\left(p-\beta_{1}\right)\left(p-\beta_{2}\right)} \tag{3.22}
\end{equation*}
$$

Thus the result is true for $m=2$.

Next, by using mathematical induction, we conclude that $\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z) \in T_{n}^{\alpha}(p, \rho)$.
Also, it is easy to show that the result is sharp for functions $f_{j}(z)$ given by 3.18
Corollary $\mathbf{C}$

$$
\begin{align*}
& \text { If } f_{j}(z) \in T_{n}^{\alpha}\left(p, \beta_{j}\right)(j=1,2, \ldots m) \text { then }\left(f_{1} * f_{2} * \ldots * f_{m}\right)(z) \in T_{1}^{\alpha}(1, \rho) \text { where } \\
& \qquad \rho=1+\frac{\sum_{j=1}^{m}\left(1-\beta_{j}\right)}{2^{m-1}{\underset{j}{j=1}}_{m}\left(1-\beta_{j}\right)+\prod_{j=1}^{m}\left(1-\beta_{j}\right)} \tag{3.22}
\end{align*}
$$

The result is sharp for functions

$$
\begin{equation*}
f_{j}(z)=z+\frac{1-\beta_{j}}{2\left(\beta_{j}-2\right)} z^{2} \quad(j=1,2, \ldots, m) \tag{3.23}
\end{equation*}
$$

### 4.0 Conclusion

The author has been able to establish the coefficient inequalities for the functions in the class $T_{n}^{\alpha}(p, \beta)$ a subset of class $T_{n}^{\alpha}(\beta)$ and its convolution behaviour.

## References

[1] Opoola, T.O. On a new subclass of Univalent functions, Mathematical Tome 36 (59) No. 2, 1994 pp. 195-200
[2] Shigeyoshi Owa, The Quasi - Hadamard products of certain analytic functions, current Topics in Analytic function Theory, World Scientific Singgapore. New Jersey, London, Hongkong, pp 234 - 251
[3] Ahuja, O.P. Hadamard products of analytic function defined by Ruschewegh derivatives, current Topics in Analytic Function Theory, World Scientific Singapore, New Jersey, London Hongkong, pp13-28
[4] Shigeyoshi Owa and Srivastava, H.M. Some generalized convolution properties associated with certain subclass of analytic functions Journal of inequalities in Pure and Applied Mathematics volume 3, issue 3, Article 42, 2002.
[5] Salagean, G.S. Subclass of Univalent functions Lecture note in maths 1013 (1983)
[6] Owa, S. On certain classes of p-valent functions with negative coefficient, Simeon Stevin 59
385-402
[7] Owa; S. On the Hadamard product of Univalent functions, Tamkang J. Math. 14 (1983), 15 - 21
[8] Saita, S. and Owa, S. Convolutions of certain analytic functions, Algebras Groups Geom., 18
375-384
[9] Nishiwaki, J. and Owa, S. Coefficient inequalities for certain analytic functions, Internet J. Math and math. sci, 29 (2002), 285 - 290.
[10] Uralegaddi, B.A. and Desai, A.R. Convolution of univalent functions with positive coefficients, Tamkang J. math. 29 (1998), 279 - 285.

